010

Jooobobood

ggooboooo,obbog,ggobobooaag.

1.1 O0O0OoOooooog

OO0,00000000 XOOOoOooo.

1.1.1 OO

00 11 X00000 «: XxX—-X0O0 (X,x)0 0000 (quandle) 0000
g, ggobobbooon:

(Ql) Vz € X, xxz ==,

(Q2) Ve,ye X,z X : zxy ==,

(Q3) Va,y, 2 € X, (wry)*x 2= (zx2)* (yx2).

00 X0OUO XO0UOOOUOoOoOoooOoOo Map(X,X)OoOOO.

00 1.200 s: X - Map(X,X):z2— s, 000, z*xy:=s,(zr) 0000. OO0
0,(X,») 000000000000000000, 000000000

(S1) Vo € X, s,(x) =z,

(S2) Vo € X, s, 0O OO,

(S3) Va,y € X, 5,08y = S5, (y) O Sa-

00000000 s0 000000 OD00. 0000 (X,s)0JDODOOOODO.



010 00000000Od

1.1.2 OO
ooo0o0do,00000,000 (DO0OO0OO0),00,0000000000000.
01300000000 R*O0000,0000000 sOO0OOOOODOOO:
sz(y) =2z —y.
014 (DDDDDD) O GOO0OO0,0000000 sODODO0O0OOoOooOooOo:
se(y) == oty

o015 000000b0boo0oboobo,0bobooboobuoobooboo.

1.2 000000000000
121 000000

00 1.6 (X,sY), (Y,s¥)0OOOOOOO. OO0 f: X —-Y O OO0 00000,
. X _ Y
O0000000:Vee X, fosg —sf(w)of.

gogodouot, bt « oo ooouooooon.

00 1.7 0000000000O00DOO00OOODOODODO. 0ODO,0000D00DOODOO
goo,bboooogooogaa.

gogooooobobobo bboob bbb, boboooboboobdoooooooooooa
g,dbobb o0 obbdood. gggoboo,boooobbboon.

00 180000 (X,s)0O0OD,00 00000 OOO.

Awt(X,s):={f: X - X:0000 }.

122 0O000O0O0OO
00 19000 zeX0OUOOO,000000: s, € Aut(X,s).

00 1.10 00 {s, |z € X} 000000 Aut(X,s) 00000 0000000 OO
O, Inn(X,s) 000O.

gobobooooboboooo,obbbooon.



1.3 0000000000

00 1.11 0000 (X,s) 0000,

(1) 00 0O0,00000 Aw(X,s)0 XOOoOoooooooao,
(2) 00000 00,0000000 Inn(X,s)0 XO0ODODODOODDOODOOO.

ggobooooobo,boogoboooooooo. bboooooboo,ooobooboood
gd. gggooobooooooo.

1.3 ODooobooooooo
131 000000

00 1120000 (X,s) 0000,0000 MCX 0O 0O0O0OO0O0OO 00000, 0
D000000: Vo e M, s,(M)C M, s;'(M)C M.

ud 1.13 0bo00gobobboooooo.

00 1.14 0000 (X,s) D000, 0000000 Inn(X,s) 00D0O00ODO0O0OO
goooo.

1.32 DO0O0OO0

00 1.15 (X,s) 0000000, meZU000.0000,X0000,000000
Os"o0opoobooogono:

(s™)g = (82)™.

00 1.16 00 (X,s™1) 0 (X,s) 0 000000 (dual quandle) 00 0.

14 ODooOooooOod

141 DO0ODOOO

00 117 00000 X0O0O0O,s,=id (Ve X)ODOOOOOOOODOODOOOO
Uggobooo ooo.

00 1.18 000000 (X,s) 000,00000 Aw(X,s) 0 X 00000000
000,000000000000000000.



010 00000000Od

142 0O0O0OOOOO

0 1.19 000 S' 000000000000 sO00000000000000. 000
gooboooo,ooooogd:

s2(y) = 2(z,y)x —y.

00 1.20000 S$'0»-000000000,000000000000000000
000 0000000 (dihedral quandle) 000, R, OOO.

0000 R, 0 S'000000O0OOO.

00 1.21 0000000 R, 0,00 X:={0,1,...,n—1} 00000000000
0oooo0o0o:

si(7) :=2i — j (mod n).

00 1220000000 R,O00000D0.00,R,000DODOOODOODODOO
Ugb,n00000000.

143 ODO0ODDOOODOO

00 1.23 00000000000 X0O0O,:00000D0OO000O00ODODODDOO
120° 00000000 s, 000. 00000O0O0ODOODOODOODO DOOODOOOO O
ao.

00000000000000000,00000000000. 0000 58?20 3-0
gobbooogbobbooooboo.

00 1.24 J000oooooooooo.

144 DO0O0OOODODOOO

0 1.25 A, :=Z,[t*110 Z,:=7Z/nZ 0000000000000.0000,000
000000 oO0ooO:

sz(y) = (1 —t)x + ty.

00 1.26 JO A, 00000000. 000000 A,/JOO0,0000000000
gobooboodoobbtoodn. oo bbooobbbooo bobo.



1.4 DO0OODO0O0O0O

0127 000 ¢t—-10000000000 J:=(t—-1)0000.0000,A,/J0O
ggoooo.

0 1.28 A,/(t+1)00000000 R, 000.

0 1.29 Ay/(12+t+1)000000000000.



120

Jooobbood

goooboodo,0bbuogdoobboooobobooooobobooooobooboa.

21 00000

00000000000 00o0oooDoOOo00O0. 0 GOOO MOOODOO,0000
goo:

O:GxM— M:(g,p) — g.p. (2.1)

00 21 GOOODOO,KOOOoOoooooo.

(1) GO0 KODOOOOOO 0000000: g~h:sg thekK.
(2) 0000000000000 KOOOOOOO 000,G/K000.

00 MOO GOODOOODOOD,GO MODODOODODOOOOOOODOOOO.
go,0bboooobboooooon.

002200 MO GODOOODODODODOODOOO,M=G/KOOODOODOOOOO
ao.

goboboooooboog,gbobbooooboooon.

00 23 KO GOO0O0O0OO0OOOOO0.0000,G/K0 GOO00000000. O
0,0000 GO G/KO0DOO00O0O000: g.[h] := [gh).

00 24 MO GOOODODODODODODDODOO,peMOODODO.OODOD,00000000
ooo: G/G, — M : [g] — g.p.



22 00000

22 00000

00 25 GO0O0,K0 GOOOO000,0eAut(G)000. 0000,000000
000 (G,K,0)0 D0000 000: K C Fix(o, Q).

g, gobobbooooboboooon.
o0 26 OD00O0OOOOO,0000bODODbDOD.
goobobbooooob,bbdogobobooon.

00 2.7 (X,s)JO0oO0O0ooOoOoooO0.0000,00000000 (G,K,o)000O
gogoobooo:

G:=Aut(X,s), peX, K:=G,, o:G—>G:g»—>spogos;1.

00 2.8 (G,K,o)000O0DDO0OOOO. D0O0OD,0000 G/KOODODODOOODOO
goooo:

sig([h]) := [go(g~"h)].

00 2.9 (G,K,0) 000000000. 0000,000000000000 sO00
0,(G/K,s)000000.00,000000:

G C Aut(G/K,s).

0210 00000000,0000 k-O00D0,0000D00000D00,00000
gooo.

23 O

0211000 (G,K)0000,e=id0000, (G,K,s)000000000.00
0D0000000000,000000.

021200 00000000000 (SO(2),{2},0)0000000000O,00
O stoooooo:

1
o(g) :==Tglhy, Iig:= ( 1 ) :

02130000 00000000000 (0(2),{l2,11},0) 0000000000
0,000 8'oo0.



020 000000000

02140000 0000,00000000DO0O0DODODOODODODODO.

02150 ¢€Z000,00 ¢00000000000 (Zy,{e},0) 0000000
0000,00000000000 A,/(f—a)000:

o([n]) := [an].

ooo0ooo,00o0 (G,K)oOooo,00000000000 e O0OODODDODOO
ggoooood.



1 30

Jooobobon

o00o0O00oo0o0ooOoOo,0o00oo00oo0oooooOoooooooooooo
000.0000,00000 two-point homogeneous 00000 .

3.1 00O

ooo0oooooUo (M,g) 0O0OOO0O0DOOOODOUOOOO.0O0O0O0UDO gO
Oooooog d000.

00 3.1 000000d (M,g) g oo ooooo, oooooooao:
V(r1,22), (y1,y2) € M X M (d(z1,22) = d(y1,¥2)), If € Isom(M,g) : f(z1) = v,
f(z2) = Y.

03200000000 R™ OO0 SnDDDDDDDDDDDDDDDDDD,DDD
O.00000o00odgoanm.

goooooo,gtoooooooooooad.
00 3.30000 (X,s)0 0000 00000,00000000: Y(z1,22), (y1,42) €
X XX (21 # w2, y1 # y2), 3f € Inn(X, 5) = f(z1) = y1, f(22) = Y.

00000000000, Inn(X,s) 00000 Aut(X,s) 00000000 ODODO.
00000000000 00. 000,0000000 Auwt(X,s) DOODOOOODOOO
ogd.



10

030 00000000

32 O

0340000000 R, (000 n>3)0000000000000O0OO0O0OO,
n=300000.

035 00000000b0000a.

33 00O

0000,0000 (X,s)0 #X >300000000,G:=Inn(X,s),00 G, O
peX 0000000000.

00 3.6 (X,s)000000000000000000,000000000:
(i) (X,s) 000,
(i) peX:G,0 X\{p}OOOOODODOO.

00 3.7 (X,s)0 000 00,000000000:
(i) (X,s) 000,
(i) peX:(s,) 0 X\{p}OOOODODODOO.

000 (s,) 0 5, 000000 GOOODO. 0000 (s,) cG,000.
00 3.8 000000000000000.

0390000000 RRODODODOODODO,0D00000.

34 00O

00000000000, 00000000000 A,/JO0O00O0COO. 0OCO
A, =Z,[t*1000000000,J0 A, 00000000,00000000000
nooooo:

st ([v]) = [(1 = )z + ty]. (3.1)
00 3.10 00000000000 X:=A,/(t—-e)0000,000000:

(sio)-([1]) = {[1], lal, [@?], [@”], .. .}



34 000

11

0 3.11 X:=A;/(t—e)0000.0000,e=200 X0O00OOO,a=40000
ggoo.

o0 3.12p000,e0 1<a<pOUOOOOODODOOO. e p0O OO0 ODOODO
g, ggbooodoad:

Zp \{[01} = {la], [a°], [a”), .. .}.

00 3.13 (X,s) 0000000, #X =p(>3)000000000.0000,00
oooooo:

(1) (X,s)00000.

(2) p000D0 00000, (X,s)0 Ay/(t—a)00D0.

(3) (X,s)0000.

gobggoobg, bbb ooobbuooobb. obobbooo
O0,00000 update 0000000, 0000000000O.



